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WORD PROBLEM 
 

1) Ella bought a wallet. The price of the wallet is Rs.150. She gave Rs. 200 to the shopkeeper. How much 
money will she get back? 
 

2) The cost of a bottle is Rs.120.50 and a tiffin box is Rs.100. Find out the total cost. 
 

3) The cost of one notebook is Rs.110. Find the cost of 7 such notebooks. 
                                                                                                                        

4)  Bill sum. 
 

Rohit bought some grocery items from a shop. Make a bill for purchases and find out the amount to be 
paid.  
 
He buys 3 kg rice for Rs. 40 per kg, 2 kg sugar for Rs.15 per kg, 1 kg lentils for Rs. 70 per kg and 2 
packets of biscuits for Rs. 20 per packet. If he gives Rs. 500 to the shopkeeper, how much money will 
he get back? 
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